Volume and surface area of prisms (A)

Find the volume and surface area of each prism.

4. 7cm
9.4m
5.9cm
3.0m
< A 4.1m
V: V:
SA: SA:
Oﬂ >
V: V:
SA: SA:
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Volume and surface area of prisms (A) Answers

Find the volume and surface area of each prism.

4 7Tcm
9.4m
5.9cm
3.0m
% 4.1m
V: 7.4cm x 4.7 X 5.9¢m = 205.202cm’ V:4.1mx 9.4 x 3.0m = 115.62m>

SA: 2 x (34.78 + 27.73 + 43.66)cm = 212.34cm? SA: 2 x (38.54 +28.2 + 12.3)m = 158.08m>

Oﬂ -
7.3il’l 7.6m
V: 7.4in x 3.7 x 7.3in = 199.874in> V:6.1m x 6.3 x 7.6m = 292.068m3

SA:2x (27.38 +27.01 + 54.02)in = 216.82in> SA: 2 x (38.43 + 47.88 + 46.36)m = 265.34m>
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Volume and surface area of prisms (B)

Find the volume and surface area of each prism.

4.4cm 2.4cm

7.6cm 8.6cm

Q
/.Ocm /l.SCm

V V:
SA: SA:
9.4m
2.8in
2.5m 2.9in
6.6m 5.9in
Vv V:
SA: SA:
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Volume and surface area of prisms (B) Answers

Find the volume and surface area of each prism.

4.4cm 2.4cm

7.6cm 8.6cm

Q
/.Ocm /l.SCm

V: 5.0cm x 4.4 x 7.6cm = 167.2cm? V: 1.5¢cm x 2.4 x 8.6¢m = 30.96¢m3
SA: 2 x (22.0 + 33.44 + 38.0)cm = 186.88¢cm? SA: 2 x (3.6 + 20.64 + 12.9)cm = 74.28¢cm?
9.4m
2.8in
2.5m 2.9in
6.6m 5.9in

V: 6.6m x 9.4 x 2.5m = 155.1m> V: 5.9in x 2.8 x 2.9in = 47.908in>
SA: 2 x (62.04 + 23.5 + 16.5)m = 204.08m? SA: 2 x (16.52 + 8.12 + 17.11)in = 83.5in?
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Volume and surface area of prisms (C)

Find the volume and surface area of each prism.

8.3m
2.0m
2.4m
3.3m
9.8m
5.9m
Vv V:
SA: SA:
4.8cm
9.6mm
9.8cm
8.1mm
3.4mm <%
V V
SA: SA:
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Volume and surface area of prisms (C) Answers

Find the volume and surface area of each prism.

8.3m
2.0m
2.4m
3.3m
9.8m
5.9m
V: 5.9m x 2.0 x 3.3m = 38.94m> V:9.8m x 8.3 x 2.4m = 195.216m3
SA: 2x (11.8 + 6.6 + 19.47)ym = 75.74m> SA: 2 x (81.34 + 19.92 + 23.52)m = 249.56m>
4.8cm
9.6mm
9.8cm
8.1mm
V: 3.4mm x 9.6 x 8.1mm = 264.384mm3 V: 8.7cm x 4.8 x 9.8cm = 409.248¢cm?>

SA: 2 x (32.64 +77.76 + 27.54)mm = 275.88mm>  SA: 2 x (41.76 + 47.04 + 85.26)cm = 348.12cm?>
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Volume and surface area of prisms (D)

Find the volume and surface area of each prism.

8.0mm
3.1mm
8.8mm

V:

SA:

3.1mm
4.8mm
1.6mm

V:

SA:

2.4in

\

8.7in

A

8.4in
V:
SA:
\7&71
8.2m
V:
SA:
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Volume and surface area of prisms (D) Answers

Find the volume and surface area of each prism.

ﬁm
8.0mm
8.7in
3.1mm
8.8mm <%
V: 8.8mm x 8.0 x 3.1mm = 218.24mm> V: 8.4in x 2.4 x 8.7in = 175.392in>

SA: 2 x (70.4 + 24.8 + 27.28)mm = 244.96mm? SA: 2 x (20.16 + 20.88 + 73.08)in = 228.24in’

\7‘8’/}1
3.1mm
8.2m
1.6mm /I.Sm
V: 1.6mm x 3.1 x 4.8mm = 23.808mm> V:1.8mx 7.8 x82m=115.128m3
SA: 2 X (4.96 + 14.88 + 7.68)mm = 55.04mm?> SA: 2 x (14.04 + 63.96 + 14.76)m = 185.52m?
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Volume and surface area of prisms (E)

Find the volume and surface area of each prism.

1.6m 2.6cm
4.Tm 5.6¢cm
6.0m /1.7cm
Vv V:
SA: SA:
1.2m

\

5.7m 1.0mm
3.0mm
] 7.2m 3.3mm
V V.
SA: SA:
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Volume and surface area of prisms (E) Answers

Find the volume and surface area of each prism.

1.6m

4.7m

6.0m

V:6.0mx 1.6 x 4.7m = 45.12m°

SA:2x (9.6 +7.52 + 28.2)m = 90.64m?

1.2m

i

] 7.2m

V:7.2mx 1.2 x 5.7m = 49.248m>

5.7m

SA: 2 x (8.64 + 6.84 + 41.04)m = 113.04m>

2.6cm

5.6cm

L

1.7cm

V: 1.7cm x 2.6 X 5.6cm = 24.752cm?

SA:2x (4.42 + 14.56 + 9.52)cm = 57.0cm?

1.0mm
3.0mm
3.3mm

V: 3.3mm x 1.0 x 3.0mm = 9.9mm3

SA: 2 x (3.3 + 3.0 + 9.9)mm = 32.4mm>
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Volume and surface area of prisms (F)

Find the volume and surface area of each prism.

2.3in

3.4cm
1.7¢m
4.8cm 3.4cm
1.3cm 5.3cm
V \Y%
SA: SA:
8.1cm
1.4cm
8.6cm
V V.
SA: SA:
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Volume and surface area of prisms (F) Answers

Find the volume and surface area of each prism.

3.4cm
1.7¢m
4.8cm 3.4cm
1.3cm 5.3cm
V: 1.3cm x 3.4 x 4.8cm = 21.216cm> V: 5.3cm x 1.7 x 3.4cm = 30.634cm’
SA: 2 x (4.42 + 16.32 + 6.24)cm = 53.96¢m? SA: 2 x(9.01 +5.78 + 18.02)cm = 65.62cm?
8.1cm
2.3in
1.4cm
8.6cm
V: 8.6cm x 8.1 x 1.4¢m = 97.524cm? V:9.3in x 6.3 x 2.3in = 134.757in°

SA: 2 x (69.66 + 11.34 + 12.04)cm = 186.08cm? SA: 2 x (58.59 + 14.49 + 21.39)in = 188.94in’
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Volume and surface area of prisms (G)

Find the volume and surface area of each prism.

7.0in
T~
9.9in
4.6in ~

V: V:
SA: SA:
8.3m 4. 1mm
47m 5.0mm
3.7m 5.4mm
V: V:
SA: SA:
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Volume and surface area of prisms (G) Answers

Find the volume and surface area of each prism.

7.0in
T~
9.9in
4.6in ~

V: 5.2in x 8.9 x 4.6in = 212.888in° V: 6.4in x 7.0 X 9.9in = 443.52in>

SA: 2 x (46.28 + 40.94 + 23.92)in = 222.28in? SA: 2 x (44.8 + 69.3 + 63.36)in = 354.92in?

8.3m 4 1mm
4Tm 5.0mm
3.7m 5.4mm
V:3.7m x 8.3 x 4.7Tm = 144.337m3 V: 5.4mm x 4.1 X 5.0mm = 110.7mm?
SA: 2 x(30.71 +39.01 + 17.39)m = 174.22m? SA: 2 x (22.14 + 20.5 + 27.0)ymm = 139.28mm?>
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Volume and surface area of prisms (H)

Find the volume and surface area of each prism.

7.3m
4.1
i 6.3m
1.5mm
8.1mm %m
V: V:
SA: SA:
M
8.9in 3.7mm
% 1.9mm
/2.0in 8.6mm
V: V:
SA: SA:
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Volume and surface area of prisms (H) Answers

Find the volume and surface area of each prism.

4.1mm

1.5mm

8.1mm

V: 8.1mm x 4.1 x 1.5mm = 49.815mm?

SA:2x (33.21 + 6.15 + 12.15)mm = 103.02mm?

8.9in

—i

2.0in

V: 2.0in x 7.7 x 8.9in = 137.06in>

SA: 2 x (15.4 + 68.53 + 17.8)in = 203.46in>

7.3m

6.3m

Am

V:4.8m x 7.3 x 6.3m = 220.752m3

SA: 2 x (35.04 + 45.99 + 30.24)m = 222.54m>

3. 7Tmm

1.9mm

8.6mm

V: 8.6mm x 3.7 x 1.9mm = 60.458mm?

SA:2x (31.82 +7.03 + 16.34)mm = 110.38mm?>

Math-Drills.com




Volume and surface area of prisms (I)

Find the volume and surface area of each prism.

O&zcm

4.4mm
9.0cm
6.0mm

V V
SA: SA:

ylﬁcm

S5.1cm
8.0cm
2.3cm
</4.2cm 7.8cm

SA: SA:
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Volume and surface area of prisms (I) Answers

Find the volume and surface area of each prism.

4.4mm

6.0mm

% mm

V: 4.1mm x 4.4 x 6.0mm = 108.24mm>

SA: 2 x (18.04 + 26.4 + 24.6)mm = 138.08mm?>

1.6cm

e

8.0cm

< oem

V:4.2cm x 1.6 x 8.0cm = 53.76¢cm>

SA:2x (6.72 + 12.8 + 33.6)cm = 106.24cm?

O&%m

9.0cm

<] .

V: 4.6cm x 3.2 X 9.0cm = 132.48cm?

SA: 2 x (14.72 + 28.8 + 41.4)cm = 169.84cm?

5.1cm

2.3cm
7.8cm

V: 7.8cm x 5.1 x 2.3cm = 91.494cm?

SA:2x (39.78 + 11.73 + 17.94)cm = 138.9cm?
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Volume and surface area of prisms (J)

Find the volume and surface area of each prism.

6.0mm
1.5mm
9.3mm
V:
SA:
7.4m
6.3m
P
V:
SA:

9.2in

s

V:
SA:
5.4mm
7.3mm
%m
V:
SA:
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Volume and surface area of prisms (J) Answers

Find the volume and surface area of each prism.

3.9in
6.0mm 9.2in
1.5mm
9.3mm <A
V: 9.3mm x 6.0 x 1.5mm = 83.7mm?> V: 6.7in x 3.9 x 9.2in = 240.396in>
SA: 2 x (55.8 + 9.0 + 13.95)mm = 157.5mm?> SA: 2 x (26.13 + 35.88 + 61.64)in = 247.3in?
5.4mm
7.4m
6.3m 7.3mm
V:5.3m x 7.4 x 6.3m = 247.086m> V: 5.6mm x 5.4 x 7.3mm = 220.752mm?>
SA: 2 x (39.22 + 46.62 + 33.39)m = 238.46m> SA: 2 x (30.24 + 39.42 + 40.88)mm = 221.08mm?>
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